
7. týždeň semestra 

 

DÚ: Nech 𝒇(𝒙, 𝒚) =
𝟏

𝒚
𝐥𝐧(𝒙 + 𝒚) + 𝐚𝐫𝐜𝐬𝐢𝐧 (𝒙𝟒 − 𝒚𝟐 +

𝟏

𝟐
) + 𝐜𝐨𝐬𝟐(𝒙𝒚𝟑). Vypočítajte 𝒇(𝟎, 𝟏),       

          
𝝏𝒇

𝝏𝒚
(𝟎, 𝟏) a 

𝝏𝟐𝒇

𝝏𝒙𝝏𝒚
(𝟎, 𝟏). 

 

Riešenie: 

𝒇(𝟎, 𝟏) =
1

1
ln(0 + 1) + arcsin (0 − 1 +

1

2
) + cos2(0) = 0 −

𝜋

6
+ 1 = 𝟏 −

𝝅

𝟔
 

𝜕𝑓

𝜕𝑦
(𝑥, 𝑦) = −

1

𝑦2
ln(𝑥 + 𝑦) +

1

𝑦
(

1

𝑥 + 𝑦
) +

−2𝑦

√1 − (𝑥4 − 𝑦2 +
1
2)

2
− 6𝑥𝑦2 cos(𝑥𝑦3) sin(𝑥𝑦3)

= −
ln(𝑥 + 𝑦)

𝑦2
+

1

𝑥𝑦 + 𝑦2
−

2𝑦

√1 − (𝑥4 − 𝑦2 +
1
2)

2
− 3𝑥𝑦2 sin(2𝑥𝑦3) 

𝝏𝒇

𝝏𝒚
(𝟎, 𝟏) = −

0

1
+

1

0 + 1
−

2

√1 − (0 − 1 +
1
2)

2
− 3.0.0 = −0 + 1 −

2

√1 − (−
1
2)

2
− 0 = 1 −

2

√1 −
1
4

= 1 −
2

√3
4

= 1 −
2

√3
2

= 𝟏 −
𝟒

√𝟑
 

𝜕2𝑓

𝜕𝑥𝜕𝑦
(𝑥, 𝑦) =

𝜕

𝜕𝑥
(

𝜕𝑓

𝜕𝑦
(𝑥, 𝑦)) = −

1

𝑦2(𝑥 + 𝑦)
−

𝑦

(𝑥𝑦 + 𝑦2)2
+ 

(
2𝑦

2
) (1 − (𝑥4 − 𝑦2 +

1

2
)

2

)

−
3
2

(−2 (𝑥4 − 𝑦2 +
1

2
) (4𝑥3)) − 3𝑦2 sin(2𝑥𝑦3) − 6𝑥𝑦5 cos(2𝑥𝑦3) 

=
−1

𝑥𝑦2 + 𝑦3
−

𝑦

(𝑥𝑦 + 𝑦2)2
−

8𝑥3𝑦 (𝑥4 − 𝑦2 +
1
2)

(1 − (𝑥4 − 𝑦2 +
1
2)

2

)

3
2

− 3𝑦2 sin(2𝑥𝑦3) − 6𝑥𝑦5 cos(2𝑥𝑦3) 

𝝏𝟐𝒇

𝝏𝒙𝝏𝒚
(𝟎, 𝟏) =

−1

0 + 1
−

1

(0 + 1)2
−

8.0.1 (0 − 1 +
1
2)

(1 − (0 − 1 +
1
2)

2

)

3
2

− 3.0.0 − 6.0.1 = −1 − 1 + 0 − 0 − 0 = −𝟐 


